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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Bmﬁiﬁ foer & fRwar Fafaf@a d @ 3@ mib_{ Ty F+ft %
1. Distractibility / fe¥cfaferct

2. Hyperactivity / sifaafead

3. Hallucinations / AfIYH

4. Impulsivity/gm?\‘ﬂﬁﬁ

Correct Answer :-

« Hallucinations / AfTYH

2) Teachers must constantly deal with changing standards and in teaching profession. /ﬁT&I'Cﬁaﬁ , Rreror soaamrg

A AR TEaa HHS) 37 Ay PETART
1. Syllabus / UTI-faaRUr
2. Curriculum / AT&I=f
3. Assessment / 3{feb el

4. Exam system /qﬁ&ﬂWﬂ?ﬁ

Correct Answer :-

e Curriculum /EI'I'oTErCIf

3) Piaget believed that language develops in a child as a result of: /WWFFFIT YT d WWﬁW, A= %Wﬂiﬁ'ﬂ%
1. Cognitive development /Wﬁw

2. Egocentric development / HB IR f[AHN

3. Behavioural development/WﬁW

4. Environmental development mﬁwﬂqﬁm

Correct Answer :-

« Cognitive development /Wﬁm

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well in her academics. Which of the teaching method will
give more productive results for Mary? / A1 9gd ATt 8 | 98 Ts SRATERUT WRaTead Ad o1 @ @t a8 Rren § JalwsHe s &1 urdt
21 A8 P fore o1 It Rigror fafty siftres arvue ghfte

1. Excursions /YHUT T &I'I'J:h?{

2. Brainstorming methods /ﬁﬂmﬂ'—‘ﬂﬁﬁ[

3. Grade acceleration /ﬁgq@

4. Individualized instructions /WQTFJUT

Correct Answer :-

« Excursions /'H'HUTCITGT@E{

5) The occurrence of is an indication of stagnation in the learning process. / B e, AT Y uftrar § fRRar &1 Udh
HHa 3

1. Motivation / SR

2. Plateau / RRI® (@a)



3. Progression / AT
4. Curve /dsh (?%f)

Correct Answer :-

. Plateau / RRI® (ﬁE}D

6) What is the main objective of teaching in inclusive classrooms? / Wﬁ?ﬁ E&H@ﬁ E: | tl%'ﬁ DI G%W T %‘?
1. Preparing students for job/ BE B B B ﬁ‘l'q TR BT

2. Preparing students to pass the examination / B! DI URIET U HRA & o JIR BT

3. Developing thinking power of students /B Bt i i &1 g &

4. Providing notes to students / GlEikal :ﬁET'T Hald &l

Correct Answer :-

« Developing thinking power of students / B &) foia wfed &1 fasr s

7) Development does not include changes that happen due to: / fawra o 3 ufvads wftafea qﬁ'ﬁﬂﬁ Y g & BROT '(a;ﬁ' %
1. Tliness / SHARY

2. Learning / 3IfeRTH

3. Maturation / GRUehdl

4. Aging / gedl

Correct Answer :-

« Tliness / §TARY

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is / “TdTAXIdl I-TH it Gﬁ?'\fﬁg” (aﬁaﬁfﬂ’raﬁwxﬁwqg
13¢) ¥ TRRT &S AIHHING RO A THAUCH & -

1. Primary caregiver /W\W BERED
2. Family / qRaR

3. Parents / Hrar-foar

4. Teachers and peers / fRrers R arh

Correct Answer :-

e Parents / Hrar-foar

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not receive his pocket money for a week. What type of
parenting is this? / 9 U el Gae alsdl 8, a1 30 ATd1-far Trgid & fF ag e 471 3 39 9a1d € % 0o g & fore 39 e
8 freh | % fre YHR 1 ureE-Tivor 82

1. Behaviourist / W@m
2. Authoritarian / TGS
3. Authoritative / HTIBTNG

4. Permissive / W

Correct Answer :-

« Authoritative / HTIPTRE

10) Children with Autism are: / qear (Gﬁ"ﬁW) a Tﬂ%ﬂ T B-ﬁ'%

1. Unable to make eye contact with others. / g{ﬂﬁ% g1y 31'\’@ T YU B | g
2. Unable to move about comfortably. / 3RTH ﬁﬂfﬁ o argqeef

3. Unable to fall asleep. / 7ig A= # S

4, Unable to follow instructions. /ﬁﬁﬁ BT U B | e

Correct Answer :-



« Unable to make eye contact with others. / §¥R- [ 1Y 37 QU B H 3rgad

11) During stage of cognitive development, children acquire knowledge through manipulating objects. / TAFHTES fap™T & AT P

IR, T TG A ST b I M B 6 |

1. formal operational stage/ ST Tishareds Srawil
2. sensorimotor stage / SR SR

3. concrete operational stage / ﬂ,ﬁﬂﬁv‘qﬁﬂﬁ HIRT

4. preoperational stage / tg:fﬂﬁmm SIART

Correct Answer :-
« sensorimotor stage / TATAIC TR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaerar & gy & $1 HA BT TP w1 = Bt e #t GIﬂTIﬁ Coll
&

1. Win over each other/ W—gﬂ% RSl Eﬁﬁ B BT

2. Operate in separate groups/ STCI-3HT W‘Iﬁﬁ T BT TR BI

3. Start small communities of their own/30 ¥ & BIc Fﬂaﬂfﬁ Gl = B DI
4., Socialize with each other/ W-ﬁ & Y Ao aaﬁ A

Correct Answer :-

e Socialize with each other/ W-gﬂ? & Y Ao Eﬁ'lef L3

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a stimulus becomes a conditioned response to another
associated stimulus. Which one of the following examples satisfies that theory?/ AT YIdId & FATRIPd Bl & faaR & SR, Th IS S
fore we faRiy wiepfores wiaftran ga Miaw SuwT & forg ues w=rd ufafshan a1 vt 81 FFaffad & @ S a1 Ierevvr 39 Risid &) ige srare?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ faene & 68 o &1 9 S[AH TR BT Hobd THSId % AR I Eﬁﬁ
& Y S &

2. Children maintaining silence when the teacher raises her hand/ SId fQT&ﬁ? BIY 33Id % AT ﬂ'mﬁ CRILY @d %I
3. Children expecting to receive medals by the end of a race/ ?ﬁts’ P 3/ dP U U B3 B IWIG 3T a1d 5= |
4, Children getting star stickers for the right answers asked in class./ F&T & I 7T gl IRI & [T TR RedHr U A a1al = |

Correct Answer :-

» Children responding to the bell at school to indicate recess and associating it to happiness./ foemera 7 € gom ) 9= AT B Wﬂ'ﬁ'ﬂa % AR IY E;,'Qﬁ
& Ty s B

14) According to Cognitivism, learning is defined as a change in the learners’ . | STTH®BAIG & SRR, ferm Pt Rremdf & ]
95aTd & = & afuriya far smar 81

1. Behaviour / JdgR

2. Schemata/ Haod (WHIHIET)
3. Mindset / ARG
4, Morals / m

Correct Answer :-

« Schemata/ T (FHIATCT)

15) According to Bingham, what does an aptitude test disclose? Acieky SYR, \?d'f\'lﬁﬁf Tteqor A wa WW%‘?
1. The tendencies and capacities inherent in the individual's original constitution./ A & HA XGHId o fAfed emramg 3R EITJ'RTCIT
2. The achievement in different dispositions./ faftr G‘W Irgar ¥ Iuafsy

3. The readiness to acquire proficiency and exercise ability./ U 3R 31T B T TR

4. The strength of the different dispositions./ faftr W TR &1 g

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ TSHUTdT 3R 31T R I FORAT



16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle is evident here? / T T B HIERT VST Rarar

T AT 31, 9% |t A0 A Sa1 1 FET B A AfRA R ww 32
1. Reinforcement / Q:IW

2. Spontaneous recovery / ¥dd: Wﬂ?ﬁ

3. Stimulus generalization / m rERfER

4, Stimulus discrimination / S&1U® [AUEIHROT

Correct Answer :-

» Stimulus generalization / B?ﬁ U HTHAHROT

17) Carl Jung’s approach for a personality assessment is:/ fdRT Sfiha- & ﬁmaﬂ?’hm PrERHIUR:
1. Judging /ﬁuﬁ:ﬁ

2. Perception /?ﬁﬂ‘*{

3. Structured / TR

4. Projective / nadig

Correct Answer :-

« Projective / madg

18) Which of the following is the term used to denote inborn patterns of behavior that are biologically determined? / Sifge FUd ﬁ'iﬂﬁﬁ'w F

ST YeAt ot gvi & forg At & @ i 2reg &1 Sua faar s 32
1. Arousal / TS (RIITE)

2. Drives / 3G (ST309)

3. Instincts / GEVIRAT ERede)

4. Incentives / TATH (3Tifea)

Correct Answer :-

« Instincts / W @)

19) Which of the following is not a part of the process of memory? / Frafef@a o EEack:| wgfa ot ufekar &1 fg=an e 8?
1. Storing information / SIECAR Wﬁa ‘DT

2. Encoding information / THGR BT R0 HRAT

3. Acting on information / 9T U BT BT

4. Retrieving information / SIFHRT U BT

Correct Answer :-

« Acting on information / T TR BT BT

20) What substage of cognitive development is apparent when a baby learns to press the ‘play’ button on the iPad in order to play his favourite nursery

rhyme? / SIS [AHT B B W IU-ATRIT WY B4l 8, 5IF TP =T (U1 GHS ST IS} Hfaar 3@ & e -0 W @ ge
o HrEar g2

1. Coordination of secondary schemes / Areafie aETe BT ey
2. Primary circular reactions it CEIEIRS Qﬁm

3. Secondary circular reactions e gdleRR Elﬁlﬁ’ﬂ:l'l'q

4. Tertiary circular reactions / ?Fﬁtﬁﬁ CEIEIR Uﬁ‘lﬁb_q'l'q

Correct Answer :-
« Coordination of secondary schemes / TS TS BT 9H-ag
21) What age is a child the most impressionable? / &g 3T BT =T RiCE | STl JHTIRITeR ﬁ?ﬂ %?

1. 14 to 18 years / 14918 9%



2.2 to 8 years /2@8@?
3.9to 12 years /99 12 a9

4.6tol4years/6@l4a'5f

Correct Answer :-

« 6to 14years/6@f 1499

22) CCE is undertaken . /?ﬁ?ﬁ'&s _ SR¥ ﬁmT\_rﬂ?‘lT%I
1. Four times a year / Uh T F IR ER

2. Throughout the year / gf iR A

3. Periodically / §HI-IHY R

4. Twice a year /Waﬁﬁaw

Correct Answer :-

« Throughout the year /a'ﬁf RY

23) Questioning in the classroom : /BT H UY BT
1. Develops inactivity s fAfspaar fawRig s % |
2. Clarifies subject matter / fawg ayq Eal Y Hdl %l

3. Creates indiscipline / SRR AT YT BT 3|
4. Is a waste oftime/waﬁaaﬁﬂ%l

Correct Answer :-

o Clarifies subject matter / fowg ayd Ea Y HIdl %l

24) Needs which grow stronger when unsatisfied are called: / W Eﬁﬁ W Aogd 3.1% areit m = m %
1. Deficiency needs / FH TR

2. Primary needs / TP SR

3. Growth needs /q@rﬂwﬁ

4. Being needs / SIS SRt

Correct Answer :-

» Deficiency needs / FHH TR

25) Who proposed the theory of observational learning? / terofta sritnm o1 Rygia fvam UEd forar?
1. Ivan Pavlov / RdIH LICIE]

2.B.F. Skinner/é)f.w. R

3. Aaron Beck / 3@7‘[%

4. Albert Bandura / EETI

Correct Answer :-

« Albert Bandura / g1

26) A scoring guide use to evaluate the quality of students is called: | ST B OTET DT Hedip P & Y swaTa ot 9=
Tl TP THIT Mg 1 Hgard &:

1. Checklist / JTeree

2. Rubrics / =i

3. Rating scales / 7T Thed
4. Inventories / §TAfCH



Correct Answer :-

- Inventories / sﬂaﬁ}l

27) Both pleasant and unpleasant feelings are associated with ./ gdq 3R 3fdr E'a""ﬁ 1rra':n1‘i @'g@ﬁ ﬁ?‘ﬁ
gl

1. Double approach — avoidance conflict / fg =@ - uRer e

2. Avoidance - avoidance conflict / Qﬁ?ﬁ - qﬁ?ﬁ gy

3. Approach — approach conflict / BECANEEEEAL oy
4. Approach — avoidance conflict / ?@W - qﬁ?ﬂ gy

Correct Answer :-

. Approach — avoidance conflict / I - uﬁ—s’r{aw&f

28) Authentic Assessment is a form of assessment in which: / YTHIOI® 3fihad 3fipa BT Th =g % o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. /Eﬂa‘ra?rammgﬁm

F BT B B P [0 BT ST B, SN STAGD J 3R DIV &b T1efep SIuiT 1 gefRia
2. Students results are compared to hypothetical average student / m%maﬁwm sﬁﬂawﬁaﬁaﬁﬁ%

3. Student performance is measured against a fixed set of predetermined criteria or learning standards / &1 P Y= Bl qa‘ﬁ'a ¥ AFCS! a1 YRe &
AFH! & T Ffd I F fawda amr o 8

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to instruction /mwmﬁmmﬁﬁ,

SN, T 3R a1 o) S A Ugd FuiRd sar

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful appllcatlon of essential knowledge and skills. /Wﬂ%W@ﬁm

& B! B B P [eTY BB A1 8, S SALD T 7R b 12ret b refeb ST Bl
29) CANCELLED
Classical gestalt theory was put forth by: / FATRIGE TeeTee Rigid fH §RT R T ar o
1. Thorndike / UTHSTSH
2. Kohler / PIgeR
3. Piaget / 0TS
4, Pavlov / UTdaId

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance / fFrafafea & @ F19-91 oR® faumea & w7 d
T B AEAdr AR SEAT B FUTRIT Hear 82

1. Parental education background / FTAT-TUdT & fRI& BT qgﬂ@

2. Physical strength of child / T @ IRING n\_ﬂaﬁ?ﬁ

3. Teachers contribution in learning process / Wmﬁﬁraﬁwu‘ﬂm
4. Social Influence on child's learning / TP T R IHING gHTd

Correct Answer :-

« Teachers contribution in learning process / &Wmﬁ%&@wq Tl

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.
1. --ive ... -ment

2. -- able ... -- mental



3. --able ... -ment

4. --ion ... mentally

Correct Answer :-
e --able...--ment

2) Fillin the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4. dis --

Correct Answer :-

3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

o Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

« Fleas have little spines that stick into animal fur like Velcro.



5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-
» They can identify warmth, movement and carbon dioxide in exhaled breath.
6) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4. of the two books?

Correct Answer :-
* best
8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.



The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-

» The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-
» Gold was found in the state and everyone wanted some.
10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

» There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only



take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling

2. Trivial

3. Crucial

4. Inconsequential

Correct Answer :-

e Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

I the book that you lent me. I have got another 80 pages to read.
1. have been reading

2. has been reading

3. had been reading

4. am reading

Correct Answer :-

« have been reading

13) Fillin with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4. many

Correct Answer :-
» much

14) Rewrite the following ch

ging the active sent to passive.
Seema informed me about her late arrival.

1. T has been informed by Seema about her late arrival.

2. I was informed by Seema about her late arrival.

3. I informed Seema about her late arrival.

4. About her late arrival, I have been informed.

Correct Answer :-

» I was informed by Seema about her late arrival.
15) Choose the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you



4. do you

Correct Answer :-
« would you

16) Choose the right tag:

He is coming here today, ?
1.isn't he

2.is he

3. has he

4. doesn't he

Correct Answer :-

» isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream ______ water that drops straight a high point.
1.in ... out of

2. of ... down from

3. of ... through from

4. for ... out from

Correct Answer :-
e of ... down from

18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4, undersupply

Correct Answer :-

« surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendrais taller______ Arun.
1. that

2. till

3. though

4, than

Correct Answer :-

 than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.



1. The best conduct award is bagged by Anil.
2. The best conduct award was bagged by Anil.
3. The best conduct award has been bagged by Anil.

4. Best conduct award was being bagged by Anil.

Correct Answer :-
« The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.

Khushi says to Swati, “When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4. Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

YesterdaywhileI___ inclassI_______ the hiccups. My friend told me ________ my breath.
1. sat, got, to hold

2. was sitting , had got , to hold

3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-

« was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4. consider

Correct Answer :-
* significant

24) Choose appropriate articles for the given sentence:

Experts believe that by _____ twenty-first century ___ earth’s supplies of gas and oil will be largely gone.
1. no article required ... no article required

2. No article required ... an

3. the ... no article required

4. the ... the

Correct Answer :-
o the ... the

25) Choose appropriate article for the given sentence:



______Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-
o The

26) Choose an appropriate modal for the given sentence:

Harini is late. She ____ have forgotten her way back to the new hostel!
1. should

2. can

3. shall

4. must

Correct Answer :-
e must

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those

2. This

3. Their

4. These

Correct Answer :-
o This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4, Bibliography

Correct Answer :-

« Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-



« to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-

» Three people were injured in the blast that took place yesterday.
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1.

Topic:- Science (SCI)

1)

Find %, v and z representing the number of moles of the reactants and products in the skeletal
equation given below: /
A= Gu arv gy A w@HiERer # sfEeret 3R scuet & amEsTorsT & dear &

gfafafica s arel =, v 3R z AT &
Fex03 + xCO = vFe +zCO:

1.x=1 y=28&z=1
2.x=3,y=2 & z=3
3.x=2,y=3,& z=2

4.x=4,y=3 & z=4



Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

g eaf a1 U w1eAw | yTia g, @ 1 gt 82

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
HIEH % U, T b TR I QM & dead RIFARA 81 8|

2. The particles of the medium remain in the state of rest./
HIEH & PHUT fIYTTawT & 35 3

3. The particles of the medium make to and fro motion about their mean position./
HIEqH & T, 37 A1l FRUFY & ey SeRSeR- Tt 81 §1

4. The particles of the medium are also propagated. /
H1H & Ul +ft TR B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HIEH & HUT, 3] Hied FRUFT F Ty serSeR- nfomfia g B

3) What are the common fishes selected for pond culture systems? /
araTe Tadfq yunfeal & e Tafta 3 S I Aot sa- 82
1. Sharks and rays / Rlica GhTB\’

2. Sardines and mackerals /W%:I ﬁ?ﬁw

3. Mullets, bhetki and pearl spots/nl@f?.'ﬁ, Ned! @TUE%WTE

4. Catlas, rohu, mrigals, common carps and grass carps / ®cdl, ﬂ'@’, HIT, ATH B1U 3R U 1Y

Correct Answer :-
« Catlas, rohu, mrigals, common carps and grass carps / dcdl, @E HId, ATHY BT 3R UG B

4) The phenomenon responsible for the twinkling of star is: /
R ot fenfenmse & forg Swrerd wen &:

1. Dispersion and reflection / YR 3R TRIgd

2. Reflection / TRTI

3. Atmospheric refraction /aTﬂTiEFﬁCI KRCRE]

4. Dispersion / TR

Correct Answer :-

« Atmospheric refraction /aTEFiEFﬂH A

5) Which one of the following diseases is almost eradicated from our country? /

fFrafafea 3 3 fora furd &) gur 3= 3 arvT T $ foar man g2
1. Dengue / ST

2. Malaria / QIR

3. Encephalitis / AFGTSH 2Ny

4. Poliomyelitis / Tfera

Correct Answer :-

. Poliomyelitis/thm



6) The hotness of an object can be measured by its ./
it avg ¥t THiEe B SWF GRT HIYT ST Jha1 g1
1. volume / 3TId4

2. Temperature / dTJHE

3. Size / PR

4. Density / 9dd

Correct Answer :-

« Temperature / dUHTT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
T& Tged & o &1 Mg TP 8¢t ¢ | Glerd 1 Sraf g2

1.0.5s

2.2s

3.1s

4.0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5 seconds. The acceleration produced in that body is: /

10 U1 509 31 te R, 10 HerAFS F TP JHHE AN A 5 e & oY T Afas Tag & FAiar faxia 21 39 Fem g1
ITied @R @:

1. 0.5 m/s?
2.2 m/s?
3.0 m/s2
4. 50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:
Matter is anything that ./
i fer e fawedl A @ O ey giee HY= &1 Ul ae:
yard ag g Wt
1. occupies space and has a definite mass. /

R IRl § 1R ForgepT T MEd geawH giar gl
2. occupies space but has no definite mass. /

R Rl 8 Al SHDT DTS T3 Fore = el g 8|
3. exists as a solid with a definite mass. /

T M Go0HM & 1Y T 319 & = # Aige g g

4. has a definite mass and a definite shape. /

T FIfd gomH td v R 3R BT 8T B |

Correct Answer :-

« occupies space and has a definite mass. /

Y TR § 3R o te FAfyd s sl |



10) Select the appropriate metal to be used to change the colour of an aqueous solution of CuSO, from blue to colourless along with a red

brown solid getting deposited. /

Cusoﬁ?w;m,ﬁwﬁmﬂf\f“\hﬁ?aﬁwgm%aﬁsaﬁamﬁwaﬁﬁﬁﬁ@éﬁmﬁ%ﬁmmsﬁwﬁm
YT T I B |

1. Silver. / @Tat
2. Gold. / T
3. Mercury. / URT
4. Zinc. / Sl

Correct Answer :-

o Zinc. / ST

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR aTelt UTg B U I & ah St & S W g g it

1. As area of contact reduces force increases / HU® &5 HH & I A dedl %l

2. As area of contact reduces force decreases / U aﬁ DH Eﬁef JITHH Eﬁ?ﬂ %I

3. As the area of contact reduces the pressure reduces / F AT HH Bﬁ RRACk:2 ﬁ?ﬂ %‘I

4. As the area of contact reduces the pressure increases / YU &5 HH g1 4 <Td Sedl 2|

Correct Answer :-

« As the area of contact reduces the pressure increases / YU &5 HH g1 4 <Td Sedl 2|

12) A screw gauge with zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0 mm
and head scale reading = 52 divisions. Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire from
the above data is: /

I GYR F 1Y TH TP 1191 TP dR &b AR B) AT & e Iuaihr & e oA wR FRafafaa SfE 3ar 31 e g $fEw - o findt ok
2 uTuw A = 52 T3 | fan man B 7% g arus &1 1 findt, 35 u1ue & 100 I F U 7 | ST FIAT A R BT AN 8:

1.0.0052 cm / 0.0052 ST
2.0.052 cm / 0.052 4T
3.0.26 cm / 0.26 94T
4.0.52 cm/0.52 9

Correct Answer :-

« 0.052 cm/ 0.052 I

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long. The green material is a mixture of: /

ST Ueh 74 PT UTH @9 THY P 3TE Id1aR0l § T8dT 8, 9 9 IR Ueh g T &1 URd o7 STt & | T8 &1 Uard fo el &1 U fyor g:
1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO5 / Cu(OH), Td CuCOs

3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4. CuO and CuCO3 / CuO Td CuCO;

Correct Answer :-

« Cu(OH), and CuCO5 / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /
Prarss & gfra quref &1 T B
1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PHIASSA & HU dd dP -Ta] oId &, 919 db b I Xd el BIS 301 ST &, A Hrengsd e 1wt RR 81 8l



2. Colloidal particles are not visible to the naked eye. /
HITESA HUGHY 3] &) fears 781 3a 81

3. The size of colloidal particles lies in the range 107 -10 cm /
PSS HUN BT SBR 107 —10-5 JH. BT AR H A G 1

4. A colloidal solution is homogeneous in nature /

TP FIARSd [Aaa Upid H Joldia giaT g1

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TS HIAESd [Iaa= U & Fomdia g 21

15) Identify an isotope used as a tracer to detect the blood clot in human body /

UTa IRR B Y9 & YFB BT UaT T & 1Y T SR & =0 § T g1 aTd U UG 31 uga Sl
1. Uranium — 235 / QX499 - 235

2. Todine -131 / 3RS - 131

3. Sodium — 24 / TFSTH - 24

4. Cobalt — 60 / BIEIET — 60

Correct Answer :-

. Sodium — 24 / TfSTH - 24

16) The product formed when iron reacts with steam is /
e 3R ary 3ififehar & = arer SeTg B

1. FeO

2. FeH

3. Fe;04

4. Fe30,4

Correct Answer :-

. Fe304

17) The role of decomposers in the ecosystem is /

it fRfres) a1 #f srvaes) 31 yfeT d €

1. They do not act on organic compounds. / q BreD D R BT e R |

2. To convert inorganic materials into simple forms. / JHTeD Tardf B! TRa ¥ i § gRafdd BTl

3. To convert organic materials into inorganic forms. / FIdfE Terdf & sfaTafe ¥t § uRafdd BTl
4. To convert inorganic materials into organic compounds. / epTafe Tardf & Brefe At § aRafdd s

Correct Answer :-

« To convert organic materials into inorganic forms. | BIED qa'lzﬁﬁbaf pTa-e 0t # uRafdd Tl

18) The lightning arrester helps: /

afa@rsefm Ay 9 A Hag HRar s:

1. To store the electric charges at the time of lightning /
dfed & gug fagga smasi &) Tugd & H|

2. Dissipate the electric charges in to the atmosphere /

faqyd smawl @1 argrsy # Blg Hl



3. Avoid the production charges on the clouds /
EIESIERIERIEAR I CE R EC Rl

4. To transfer the electric charges to the ground /
fagqgd smdei &l yff & REdRd 3 H1

Correct Answer :-

« To transfer the electric charges to the ground /
fagga smasi & Yy & wimfaid & H|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs for 10 hours per day in a month of 30 days? /
30 fal & w7 & U & 10 9 F T 5 a1 3 0 ael &y ¥ fiare vl # forai fagga Sl ot @ud gidt 32

1. 15 kWh

2. 150 kwWh

3. 15000 kWh

4. 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgSO4.7H,0
[Atomic masses: Mg =24u,S=32u,0=16u, H=1u]/
MgS0,.7H,0 & I SHTS SoTHTH Pt TUHET HY:
[URHTY] SAHT: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4.198u

Correct Answer :-

» 246u

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic energy of the bullet is mainly converted in to /
dg® A Mell g oM R T Fuifva aodt & 1 w et g1 97t 81 et Y wie ot ey wu & 53 ufvafda 8wt 2:
1. Only Heat energy / ad SHBHT SHuil

2. Kinetic energy for the wooden board /W%@é%ﬁﬂ'ﬂmm

3. Only Sound energy / Had iy SHolt

4. Sound and heat energy both / i 3R ST Sl T

Correct Answer :-

« Sound and heat energy both / Al 3R ST o1t g

22) 1pa sunny day, when the atmospheric temperature is 370C, the temperature inside a car, which is parked on an open ground is: /
TS YU I1dl 37 A, 919 argtiseiia araar= 37° AR g1a1 8, 9 U PR & Sig’ T a19d, ol a AgH § WSl 8, fAer ghm:
1. Greater than or equal to 37°C /37°C & SRIER T 3feH

2. Equal t037°C / 37°C & SRT&ER

3. Always greater than 37°C / 37°C T 3ifdw

4. Less than 379C /370C @ &9



Correct Answer :-
« Always greater than 37°C / 370C ¥ 3%

23) In a filament bulb the electrical energy is converted into: /

Tw fhamie 9o (dg 9o9) B fagya Swf & sad ufkafda farar wmar 2:
1. Chemical energy / TS St

2. Only heat energy / BT ST Holl

3. Only light energy / I UPBT FHoll

4. Light and heat energy both / hTRT 3R AT St AT

Correct Answer :-

« Light and heat energy both / UhTR[ 3R AT St AT

24) What is the valency of Carbon in Methane? /
AT o 1= B FarsTwar fea 82

1. Valency of C = 2 / C &1 GaIoIdhdl = 2

2. Valency of C = 1 / C B! Yol = 1

3. Valency of C =4/ C P Galoidhdl = 4

4. Valency of C =3 / C &1 GaIoldhdl = 3

Correct Answer :-

. ValencyofC:4/Ca'§T¥l'Tl3|\—rlav_Cﬂ:4

25) Which among the following is a mixed anhydride? /
fFafafEa o @ w1 ve fafda Tiesess @2

1.CO,

2.N,0s

3.80,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
Frafafea & & w1 sATe Yerur & forg ferr Sura 78 32

1. Chemical method / IS fafey

2. Fumigation / ‘if‘ﬁ

3. Plant products like mineral oils / Wi dd o LIFEESCI

4. Cultural method / ﬂw fafy

Correct Answer :-

« Cultural method / Wﬁﬁﬁ fafy

27) Which of the following is a biotic component? /
Frafifed § & oH-91 e 3 gew 32

1. Air/dlg
2. Water / SIcT



3. Soil / flrEt
4, Living things / Sifad a¥qa

Correct Answer :-

« Living things / Sifad a¥qa

28) Which of the following is a chemical effect of electric current: /
fora & @ 7 fagyd vaTe &1 Imfe yva @
1. Producing a magnet using electric current /
e YaTE 1 U HX% T Y S HRAT
2. Producing heat in an electric kettle /
T Saifaes el H ST I BRAT
3. Producing light using electric bulb /
fSrsTell & ded BT U BR YebT S HRAT
4. Production of Hy and O, by passing current through water /

U ¥ URT YA &R Hy 3R O, BT ITE HRAT

Correct Answer :-
« Production of Hy and O, by passing current through water /

U ¥ URT YA &R Hy 3R 0, BT ITE BT

29) Name the property of the components used for separating salt and camphor. /

TUH 3R HYT B AT B3 & T w7l f5d oM a1t wew! & quienf gargd
1. Using separating funnel / U] 10 BT TN

2. Magnetic separation / 98 1 JYaHRUT

3. Sedimentation / 3G

4. Sublimation / S&UT

Correct Answer :-

« Sublimation / SEUTdT

30) Discoveries, inventions, laws, theories are all related to the . /@\_ﬂ, 3nfasrr, fFraw, Rrgia Jqft
| Halka &

1. ease in daily living /Wﬁﬁa:f o 3T

2. study of science /ﬁiﬂqm apn)

3. luxuries of life / ST & RRERICE]

4, satisfying human curiosity /ﬂT-‘-Fﬂ“C[ forman P ﬂ@g DT

Correct Answer :-

- study of science / fom &1 31T

31) Not only formative but also summative assessment can be conducted through: /

9 $ad fAafuae, afes dmae e i e & arerw & Senferd foar & Jodr @:
1. Homework / W

2. Question and answer sessions / U4 IR IW I
3. Projects / g3
4. Self-evaluation of teachers / TRI&f@T &1 W-Jeih T



Correct Answer :-

. Projects / a3t

32) The drawback of Case Study method is that it does not lead to a: / HY-Icdl fafr =1 Eﬂ'ﬂ % f& g UaH :Iﬁ
Hedl gl

1. Generalization / FHIHRT
2. Conclusion / frepy

3. Categorization / Fffesur

4. Assimilation / SITHIATAD T

Correct Answer :-

« Generalization / RaIE s G|

33) Which of the following is not a feature of Continuous and Comprehensive Evaluation (CCE)? /ﬁ'ﬂﬁl’@ﬂ T q B

Tad Ud ATYS Yedie (HRiTg) B fa=ivar 48 82

1. It helps the teacher to learn about the existing concepts of students. / g BRIk IﬁGET STYUROMS & TR H S | & B
TEIA FRAT 3|

2. It involves more frequent tests and examinations. / Eﬂﬁ NRIGIR tIﬁ&‘IUT 3R qﬁ&fTQ gfefera Eﬁ?ﬁ %I
3. It involves repeated assessment of the same parameter. / Eﬂ'ﬁf Th _E>p[ AHGUE &l IR-R 3Hihad gfeferd Eﬁ?ﬂ %I
4. It is a school-based evaluation. / Jg Udh foema-amenid W %I

Correct Answer :-

. It involves more frequent tests and examinations. / Eﬂﬁ NRIGIR qﬁ&‘I'UT 3‘ﬁ? tIﬁ&‘ITQf gfeafera a?ﬁ %I

34) Which of the following is not a scientific question? / fafafeada CaCK: || Th aﬁTﬁﬁ? Uy :lﬁ%?
1. What is the density of water? / Tt 1 9cd fpdAT %?

2. Why can we not see in the dark? / BH 3R H ﬁa@ﬂﬁ %?

3. What is meant by a secular republic? / Uﬁﬁﬁ&‘[ TTUTeH BT T 3 %?

4. Why is the colour of sky blue? / 3ITETRT BT T =iall T &2

Correct Answer :-

« What is meant by a secular republic? / ﬁlﬁﬁﬁ&[ TG &1 T 3 %?

35) A formal event where multiple experts deliver their speeches is known as /TP SuaTe geAr CH| Té

fvg s yrwurdd s, SuA S e 3l
1. Laboratory / TANTRITAT

2. Symposium / gt

3. Exposition / UG

4. Workshop / STIRITEl

Correct Answer :-

« Symposium / ST

36) What is the name of the satellite that was placed in the geostationary orbit specifically for increasing television-based education in

India? / 39 IUUE BT A1 T 8, B yRa § Tehfase-snenia Rien # 9em & Rre faviy v & yx2Afae sem & war mar ur?
1. ERS2



2. EDUSAT
3. TechEdSat

4. ATS-6

Correct Answer :-
- EDUSAT

37) What is meant by intervarietal hybridisation? /
Siarfafay deor o1 T o7 giar o2
1. Crossing between different varieties of plants. /
e & fafis TR & st YebrdT (HIRI)
2. Crossing between different genera. /
ot Tt & it Hepvar (spIRi)
3. Crossing between genetically dissimilar plants. /
TAiRIE =0 ¥ i teff & o Fehvar (i)
4. Crossing between two different species of the same genus. /
T &1 92 & < el Ueiiferdl o sfter Teba (shifiT)
Correct Answer :-

« Crossing between different varieties of plants. /

et & fafist R & s Wb (HIRIT)

38) Assessment standards are required to provide effective science education for all. To assess teaching of science by science teachers in a

classroom, which of the following is NOT applicable? / aft & ﬁl'q YT ﬁ?ﬂq ﬁT&‘I'I' I'G]) AP 'I%I'Q' 3fipad ATSD! Bt
SATARGH T gieit 8| wem o g Rigre) g1 g & Rigror &1 siwad w31 ¥ forg, Fafafaa & @ #1991 sugea
TE 82

1. Parents’ view of the teacher. /ﬁT&Iﬁ %W-WW‘E’WI

2. Performance report of the students in the subject. / fava & 3 3t ueRi kA |

3. Students’ feedback on the teacher. / FR1&/® TR BT &1 Ufafhar|

4. Other school’s opinion of the science teacher. / 3= faenaa) & fag Rigd & IR # R[]

Correct Answer :-

« Other school’s opinion of the science teacher. / mﬁamu‘r?ﬁﬁwﬁwa?aﬂﬁW|

39) The factor that does not influence the formation of winds is: /

arg fAfor &Y gutfad = w39 arar sRe e @

1. Presence of mountain ranges / udd PICKll P IurRUfT

2. Presence of seas and oceans / H'ﬁﬁ}f 3‘?[? IIF'N'ITI'\PT &I IufAfa

3. Uneven heating of the atmosphere in different regions of the earth / qwﬁ & fafirs &= & araraR o &1 SHH a1g=
4. Rotation of the earth / q@?ﬂ‘{ﬂﬁ

Correct Answer :-

» Presence of seas and oceans /;‘Hﬂ IR HERITRY &1 IufRyfay

40) When a force of 1000N is applied on a particular surface the pressure acting on that surface is found to be 10 Pa, then the area of the
surface over which the force is applied is /

g fpft =iy Wag W 1000 g1 FT 96 AN g1 @ a1 I Wag U T 9Tl <919 10 Pa UTdT 4T €, Al 968 SIUART qag &1 &A% fda-

1.0.001 m?



2. 1000 m?
3. 100 m?
4,10 m?

Correct Answer :-

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s respectively. Which of the two objects have the same
speed? /

IR TEG3Ht P, Q, R UG S FI 7Ifay HH=T: 10 /A, 36 frit/wer, 18fpi/ver aiv 30vt/A 71 74 & g &t wfa gw= 82
1.RandS/RTTS

2.PandR/PTIR

3.PandQ/PTIQ

4.QandS/QUd S

Correct Answer :-

« PandQ/PTIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20 oscillations?/

e Ugew @Y 9iq farasil TR 20 gie! § Arer fRUFY 1 uR Fedl 82

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the ground. (g = 10m/s2) /
T g 100 W Bt Far$ I FRTE St 1 g 1 Yy a6 ugm F R wwg @i (g = 10m/s?)
2 V5s

5v2s

3. 20s

4. 25s

Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the next is /
TS TIYs R A 3T Ny TR A AR Sl S amn g g
1.5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

e 10%



The acid present in Rancid butter /
fapd ith Heae & SufRd o e €
1. Butyric acid / @I%W SN}

2. Acetic acid /URIfe® 3

3. Lactic acid / Qfdee® 37

4. Formic acid / BITH® 37

Correct Answer :-

« Butyric acid / W SR

46) In an electric motor, the energy transformation is from: /

e Faud aites i, sl uRad- e @i &

1. Magnetic energy into electrical energy / memﬁﬁmﬁ
2. Mechanical energy into electrical energy/tlm wﬁmﬁ‘@amﬁﬁ
3. Electrical energy into magnetic energy / faggd st &1 e ot &

4. Electrical energy into mechanical energy / faggd S &1 Tife Sl &

Correct Answer :-

« Electrical energy into mechanical energy / faggd it &1 gifid ol o

47) CANCELLED

Thick layer of fat called blubber is found in: /

R ATHS 991 P HIKT URd 379 Ui STl @:
1.Whale/@ﬁ
2. Polar bear/?ﬁﬁqlﬂq

3. Camel / 3¢

4. Shark / XM

Correct Answer :-

. Whale/%ﬂ

48) Which one of the features mentioned below about decomposers is not applicable to decomposers? /
Ige® uHTSie +ft g § ok & gedt o1 A1 Fvd B
1. They transfer energy to the next trophic level in the food chain. /

3 T R H SATA RfPehar TR WR Sl RIHART Bd g
2. They are also called as saprophytes or reducers /

I gaohd! a1 AgepRe i el S B |
3. Decomposers are also scavengers and they clean the earth. /

JUEeE uHTSId Ht 81 § SR 3 gadl &) A1 v g
4. They help in recycling nutrients. /

3 UIveh GARIUl H GG Id o |
Correct Answer :-
« They transfer energy to the next trophic level in the food chain. /

3 Ty R T SATS TPl TR TR ol /IR R g
49) Which of the following is not a child-centred classroom? / ﬁ'&lﬁl@ﬂ ) Tﬁﬂ'—?ﬁ W-a"@_d DET =|'bpf %?
1. Teachers promote collaboration in learning / ﬁfw ffrmH A H_E?th'r[ A deldl a?f % [



2. The teacher is a facilitator instead of an instructor / ﬁTW Tdh qﬁTW CACSIE Uh JHIID %I
3. The teacher decides content, instruction method and assessments / e W, EléQ fafd 3R sirepa o1 fAvfg %I

4. The students have a choice to pick assignments and decide assessment criteria / BEI & UM 3RTHC ﬂ:ﬁ 3R H™ihT
HHES TG 3 Bl f[abed g

Correct Answer :-

« The teacher decides content, instruction method and assessments / Rrer® ﬂ'lﬂ"?ﬁ, Elé? fafer 3R 3neper o1 fAofy war %I

50) Which of the following wastes is not bio degradable? /
Frafifee & & S19-a1 sufdre Ja fa a1 9 srawfa =8 32
1. Vegetable peel / gfewral & fad

2. Milk sachets / g¥ ¥ e

3. Cow dung / T T MR

4. News paper / 3&dR

Correct Answer :-

« Milk sachets / Q4 & e

51) which of the following learning approach is considered to be a derivative of the Ausubelian approach? / ﬁ'ﬂm k- ac k|

ST TRHIT, SRIAfera=T =¥wior &1 e 9= STan 82
1. Experiential learning / {JHATHP ST

2. Collaborative learning approach / NS SRATH eI

3. Analogy strategy / HIERY XU i
4. Concept mapping / ST AR

Correct Answer :-

. Concept mapping / T~ HHRE

52) which of the following can help the students to learn science through kinesthetic movements? / ﬁ"}lﬁl’@ﬂ' | ﬁ Tﬁq B B

Tfaad) feparait & areae @ fage dieq § #eg &Y o1 82
1. Written test / foiiRaa adterm

2. Debate / dTe-fdarg
3. Drama / dIch

4. Quiz / THTRT

Correct Answer :-

« Drama / {lc®H

53) If an object is kept in between the principal focus and the centre of curvature of a concave mirror, then the nature of the image will
be: /

e fPh oxg &) g1 BIed 3R 3gad Ul & gehd1 & Sx & @1 o1dT g, of By T yepfa gnft:
1. Real, enlarged and inverted / IR, 3ifHafdid d St

2. virtual, diminished and erect / 3THTE, S fad Td teft

3. Real, diminished and inverted / ARATA%, THTId T Jeet

4, Real, diminished and erect/ IRdfad, YHad Td Hreft

Correct Answer :-

« Real, enlarged and inverted /Wﬁiﬁ, Gfﬁ-ﬂ'f%@ 3



54) People of different age groups need different amount of sleep. Who among the following needs more sleep? /
faftr amg arf & I Y SrewT-srerT wrn & g B srazgwar gt ¥ 1 Fafafaa & & R g B 9a it sRevd g1t 82
1. Child / =T

2. Infant/ﬁl"\ﬂ
3. Man /=Y
4. Woman /IF%FIT

Correct Answer :-

. Infant/m

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that surface is: /
2.5 m2 $) TF Wag W FHRIG: 100 N HT §¢ TAT ST 81 HAg W A9 qrell o §:

1.400 N/m?

2.40 N/m?

3.4 N/m?

4,250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should encourage them to: / T fRier® 3 sl

# Higdaiy BT UIyor H3 B SR F 6T 3, I 37 WeATed H1 A1f¢
1. Investigate ideas / fOaR} @1 S &Y

2. Development of models of inquiry / STTd & UfdHM (HiSd) P [dBRId B

3. Observe phenomenon keenly / ¥ &1 I dl J I |

4. Frame questions / d U3 R &Y |

Correct Answer :-

« Observe phenomenon keenly / ¥cHl &I S dl q ¢

57) Which of the following would not promote active discussion? / ﬁaﬁr@a i ‘\ﬁ H)BFI' Tferg TJaf &Y deldl :Iﬁa"'ﬂ?

1. Selecting topics from upcoming tests. / ST gieon & fawdl &1 o B

2. Summarizing ideas with the help of learners at the end of a discussion. / Jai &b d H f%r&rrﬁﬁr I JelddTl 3 faari &1
RINIRGEZEI

3. Acknowledging learners for responses. / yfafsar & forg Rrenfiat & WeR w|

4. Encouraging questions as well as responses to each other’s questions. / aTdll P WicdTed =1 Td ﬂT"’J%‘TW-@HQ & Ul &
BEICEEll

Correct Answer :-

« Selecting topics from upcoming tests. / ST T&on & fawa &1 9a- S|

58) Which of the following statements is false with respect to scientific theories? /a'ﬂTﬁﬁ? ﬁl?x'l?ﬁ & gay H frufefaa o
A B I HY T 82

1. A theory must be tested with rigour. / T RIGId T €&l & TTY TA&f0T fowam ST =nfeu|

2. Theories must follow observations. / ﬁl@?ﬁ Ca| ﬁf&‘mﬁ D Ul hRAT E|T|%'EI

3. Theories may be expressed as an equation. / TIGidl &1 U TR0 & =0 H ad bl S Tl %I

4. Predictions of theories must be reproducible. / Rl &t Hiasgarfory srawg w0 3 Wﬁtﬂq ERIEIRY



Correct Answer :-

« Theories must follow observations. / %I@(_‘l Kal ﬂ&mﬁ DT YT hAT T‘II'I%'QI

59) A scientific theory cannot be expected to: / Th aﬁTﬁﬁ Rrgia @ ardem =g &1 &1 gval f -
1. Predict all outcomes / FHT GROTH &1 qﬁmﬂ Spief

2. Resist falsification / SIIIDH U] DI Ry B

3. Receive questioning / T3l &l U |

4. Change with time / JHY & 1Y ged |

Correct Answer :-

. Predict all outcomes / 4T WWW a|

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile. What substance is generally added to the soil to
neutralize this effect? /

PN ¥ e &l & sife vt A ) ety gt 3 aut Yy SrgueTs; 81 ATt 81 39 U B A8RR B+ & fig arr=a: e
vard F1 Y o firaman wirar 82

1. NaOH

2. Mg(OH),
3. Nay,CO3
4. CaO

Correct Answer :-

« CaO



